Fv-( Nev 9
* Midlerm 2 Monda
The review Sheet S helpful.

From Wcalm.s&aﬂ

G—iw—h S«i&k.w\ Ax=b) columns of A o
li\u.AVlj i\«dat,wahu:f

+Hhe least S g uaves sppreimadion. 13 ,Q,
_‘—
LJM_\..L /)?‘—'A L) 0:”4 "%MkO‘F?M
2,

» the wohor Fhet minimizes HA-;(JoU

oo “hest" aPPh;x;./hq,ﬂOVl of a sildio b

Ax =k
2
o Tbvminologj -FCA = H/.\,x.bll éd)‘jg,el:u,(%,

5 7 -1 T ~N t A
F AA) A b=X & Ab=R
* Tooselve Ax= b . Mulibyd onbol

norma —2 MTA'X = A+~g
%u,w‘-?dlb




Exampli © Find Hhe lina of best £it for +he poinks
(LD, (2,3 (4,0,

We want lj:mx+b Hhat is close+o poinfs. Sy .

we want M and b SoFhat l= m+b

H=2m+b
=4 mtb.

or L1 ‘
2 | [;J‘ 1] . Thew is Vo selutie ble
4 | L %?( ts netcoadast

for ovr Po;HS .

Find a lewst Sguates 41>me Solwlion - -l

[§ A$E‘) oo :z'-f DL
ﬁ" J lll




12 //
. /
/
/
/
g /
/
/
/
/
/
/
1 #
/
//
/
0 // 2 4 6
/
Desmos )
bow combidont ot 5 poould work for- 100 PaihfS?
Aoide: L ASbe %) | A fIT] W dekla
v lof g / Al 4
-%‘, U g,= ,3 e -,;' ‘o



Theve is anetbos S-H’Akaﬂ for -CMJM A—+ N

VISTYLS AR -Ca.o-(oﬁ%'ﬂ.-’-}o»- )

Guia.?bui_a_g G'l"-‘—"\ A ah nxn rmathix (._)/ /‘m',l\'j

ndepucdut Columns
@ Ure Gvam-Schmidd + £l

o oneral vectod 9, 9,9,

which {form o cdwmid Jr et
) ) én or-lebmJ wclyix.

@ Find Ry Rz alq fo 12024en and

Zi0S b lsw dia 5l
What i€ A is net S;mw? Saﬂ mxn.

Given A an mn meahix w/ /m.u;./l\nj wedl ARk
mdipudit clumus,  £—— ' mrR
Q) Wre Gram-Schmich + £ )’ o
OVJaonvrM' u-et:"Od 1' q"""‘llr-

Can sl APPb GS +
GetHe g’

Q ) WW' — 0 would also be mxh and
hawt OV'-U‘onovma.l Columung,

| Ry R =Tale o | T dzan ond

208 he lsw aliaw & This still wevks bl

we have M 011,\5 and
n as'



E_;(__\ QR T d.!ComPoSi-,lfu—/-ﬁanlDr':%a},m_ -‘-‘:)V

R
=@ | P 2 N
7 =
s %’ o  Ve/s
Lﬁ} '% ] C Check 'rl-\s Cayle c—} !)

T =l

u Use  (¥) = VX and (2)=7 5

Answer -

———

A= (A DA
- (@%Y aR) (@27
(‘R g @R) (¥g )
' R) ) ) 661,

'R" CP\T7 W ) (RT) R=1T,

R™ QT

\

N



As a ppHerr of imPLl.h«.cu/vJ""\ !
G_oﬁl_ 7-’;)14/? e et S;a.a./«b % PO~ o
Axzb. [Co/umnao'f/“ aswe lin. /'h@)

OR method.
@ A': @? « find QR -(acw.‘.

@ Solve Rx=G'b bybackssb.

7; ,9-( SP&L;C-'L'- f;ndl;h | | “II
2 0% =] G e
=z 4 A = =

q | 3 ¢
b e _*

t % A <
|5 ST D) 7
g™ 51 Sp Sl Rx=0b or
2 6 (9] VZ/;

M4 C
Tl /2 T 53/,/;,
gl " & e g
b
\rﬂ’ﬁ—\'@x = 5>/lv€(
FY 2
\n;x = "-'_Sﬁ =D X, = -§
'3 2 G 2 2
S;n“ ﬁl’ﬁ"'m =£§ A}‘,A x—"i}
1’(7, vl = Y

P’us XZ"—' —7’



ot Lind He poind on4e fire L
closst b Ha port PC1.3 5_) o
Lis ¥ Lo Hoowh £0,0,0) nte divetor

; I Warkt  x geted
S i
[|] (l} no Sdln. Find ;(\ .

Nwhe

o]

-] ‘
= (G) [:l Z’-l [é} = 7 O‘"(;"‘S'}:Z
\
%21 o [22') 15 closst 4 Lz]

2 NI
oS0 B
/;'rw: E.-j L,';l A

X7



